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2.  
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3. ____ _______  

(A)    (B)   (C)   (D)  

4.  
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5.  

(A)      (B)  
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6.  

(A)    (B)     (C)    (D)  

7.  

(A)    (B)    (C)   (D)  

8.  

(A)      (B)  

(C)       (D)  

9.  

(A)     (B)   (C)     (D)  

10. ________  

 

(A)    (B)    (C)   (D)  

11. (Tobin) q ________ ________  

(A)    (B)   (C)   (D)  

12. ________  

________  

(A)     (B)    (C)    (D)  

13. ________ ________  

IS ________  

(A)       (B)  

(C)       (D)  

 



14. 1997  

(A) (Myron Scholes) (Robert Merton)  

(B)  

(C) 1973   

(D) ARCH  

15.  

(A)    (B)    (C)   (D)  

16. (Yield Curve) ? 

(A)      (B)     (C)     (D)  

17. 3.45% 3% (  

) ? 

(A)     (B)     (C)     (D)  

18. (Spot Rate) ? 

(A)   (B)  (C)  (D)  

19. ? 

(A)   

(B)  

(C)   

(D)  

20. ? 

(A)   (B)M1B M1A  

(C)M2 M1B     (D)M1A  

21. 10% 500 5,000 50  

? 

(A)5.24    (B)4.67    (C)3.69    (D)6.59 

22. 1,000 ? 

(A) 1,000    (B) 1,000  

(C) 1,000     (D)  

23. ? 

(A)      (B)  

(C)      (D)  

24.  

(A)     (B)  

(C)     (D)  

25.  

(A)        (B)  

(C)        (D)  

26. C=1,000+0.75Yd Yd 100  

? 

(A) 1,000     (B) 0.75 

(C) 900     (D) 100 

 

 



27. ? 

(A)   (B)   (C)   (D)  

28. (Phillips Curve)  

(A)     (B)    (C)    (D)  

29. ? 

(A)     (B)  

(C)         (D)  

30. 15% 15%  

 

(A)         (B)    

(C)        (D)  

31. (Eurodollar Bond)?  

(A)  

(B)  

(C)  

(D)  

32. ? 

(A)       (B)  

(C)      (D)  

33. 1,000 500 100  

(A)17%         (B)67%     

(C)50%         (D)40% 

34. ? 

(A)         (B)     

(C)         (D)  

35. 100 7% 5%  

(A)1,600,000        (B)1,050,000    

(C)1,200,000        (D)1,400,000 

 

 

 

 

 

 

 

 

 

 

 

 



3 10 30  

1.  

         C 300+0.5(Y-T) 

         I 100-400r 

         G 100 

         T 100 

         Md/P 0.5Y-200r 

         Ms 6300 

         7 0 0Y   

         Y r T  

(1) (Aggregate Demand Curve) 2  

(2) P 15 (Short Run)  

8  

2. IS-LM AD-AS  

(1) ? 5  

(2) ? 5  

 

3. ( )  

 

 

 


